& :(2000) AFSIOHEEH] 2 (2400) =S L X S AMSI N & (2420) X <= AFS) O & Mgt (2421) =2l A OH2 HIAIE: (120) 3 &= F | [HE] [ &3]
L = 7SI I == B I}
ol &b o A = Il =
a2t g MlE L AAE =2 of & o = A
2000 [= 0 = 16,231,055 X| 01
ARSI JH | 36,568,055 51,840,335| 215,272,280 [ 20,337,000 DI 0 = 0]
2400 [= 0 & 16,231,055 Xl 0]
FEHL XS ALS] OH 2 Y| 36,568,055 51,840,335 215,272,280 [Z 20,337,000 7| 0 = 01
2420 [= 0 = 16,231,055 Xl 0]
KNS AFS I 36,568,055 51,840,335 215,272,280 [2 20,337,000 7| 0o = 0]
2421
T OMOS 1,250,375 1,053,520 196,855
100
A0 & 101,305 98,270 3,035
120
JAaAFH| 101,305 98,270 3,035
201
2Bt A 43,905 42,420 1,485
39,405 37,465 1,940|01 etEAH|
o btxZH| = 21,000
o9 ACH = 9,405
o= &l = 9,000
4,500 4,955 A455|02 SHAFAI & HI
odALE 0 X 100,000& x 10& = 1,000




Z:(2000) AFZIOHEHI 2:(2400) FEHRL XIS AL NS &F:(2420) KIS At R e Mgt (2421) =2 MOLS Mg (120) 2 &t = FH [NIE] [t d 3]
o = rSI= R e im)
o & = & & 8] ES
B M HAE = of & % = oA
oXHESA BN R 70,0008 x 504 = 3,500
202
O Hl 28,500 28,000 500
28,500 28,000 500/01 =LAOIHI
SZ NS YREX = 28,500
203
Q2 ETH| 18,600 16,800 1,800
18,600 16,800 1,80003 AlZZEZQR=ZH|
CEYTAN LY Y ASEARE = 15,000
SZoNDIS YREX = 3,600
301
SR 10,300 11,050 AT50
3,000 3,750 AT50(09 BAMAIHI A
oMOIE Z2NS & 50,0002 x 5% x 63 = 1,500
ScHINOISNEX 5 &A
50,0002 x 5% x 2 = 500
SHIANAZAUNE FA 50,0002 x 10% x 22 = 1,000
7,300 7.300 0[11 JIEI2 43




1 (2000)ALBIJHENE]  BH:(2400)F QKIS ASIIHE B:(2420) K A 2t HIg: (2421) S 2 MOHE HIAIE: (120) 3 & = H b REIERREE)
2 = S == S im)
o & = & & 8] ES
I 2B ME. MM = o & % = oA
CELTALY U TOMIISSE RBA HE
50,0008 x 302 x 2% = 3,000
ORI ZAIHAL A4 1,800
2% 300,0002 x 2% = 600
e 200,0008 x 3% = 600
SE< I 100,0008 x 6% = 600
OXFEAES HESI B2 AlY 1,000
% 300,0008 x 18 = 300
e % 200,000 x 2B = 400
X o 100,0008 x 38 = 300
o4 NHSAX EF 50,0002 x 30% = 1,500
200
ARSI Ol & 1,149,070 955,250 193,820
220
R AL 1,149,070 955,250 193,820
201
2Bt oyl 4,500 5,240 AT40
4,500 5,240 AT40|01 LBr2 Y|
ST NAZAHE 29 4,500
- AREEY| 100,008 x 128 = 1,200
S2EM = 600,0008 x 3% = 1,800
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ZH:(2000) ASI N H] 21 (2400) S XIS ARSI NS BF:(2420) K| & ALS] K 2 HI&: (2421) E Ol NDHS I I : (220) ER AP EBIECREN
ut = "SI E == ] Il
Ol A o At = p] x
I s ME L AIAIE = o & | = A
o245 AL oY J|EAY XAl = 20,000
oRI113 ToMiiSeE EXWH3 = 10,000
oN55 MIZHAUW wAZF = 20,000
oHNI528| BrZolY BAL = 4,000
oZ A YEH N = 1,000
o Xt 2 Al Bt2t3) = 20,000
CEHUL WSAUG ZH 23 = 20,000
308
XX SIS 947,250 809,250 138,000
0]ps]
947,250 809,250 138,000 (01 K XISHHBABEZ
SMOISXIEXR X etz
1,000,000&! x 500 x 50% = 250,000
oE50 A 2% 1,500,0009 x 2900HA x 30% = 130,500
cOMEoNA 29 122,500,0002 x 30% = 36,750
oEL A LAUAY FX
12,000,0002 x 16AI2 X 50% = 96,000
oo MOtS ASDS 560,000,0002 x 30% = 168,000
oR103 42 DS MAIS 20,000,0002! x 50% = 10,000
oAl - 2 NZAME 29
25,000,0002! x 16AIZ2 x 30% = 120,000




H:(2000)ALBI N HI 2 (2400) FEUKIGALSI NG BH:(2420) X & AFSI N 2 B (2421) Sl MDIS HIAIE: (220) KR ALY UBIEEEE)
L = PSS == i}
o & = & & 8] ES
X oHost MNIE ML = of A | = oA 2
SRS AK 2t
3,000 x 1,000% x 16AI2 x 50% = 24,000
oIlEH EYHBISHY|
2,000,00020 x 16AI2 x 50% = 16,000
oMOIS S 20,000,0002 x 16AI2 x 30% = 96,000
403
XX SIS 2,360 25,000 22,640
Xt =0l ®
2,360 0 2,360(02 2| 2SOl CHEHCHEY AL HI
OREEA HEAIAE 2 = 2,360
2422 [= 0 & 14,980,680 X 01
X) < O e 35,317,680, 50,786,815 15,469,135 [2 20,337,000 O 0= 0]
200 [2 0 & 14,980,680 X 0]
AR Of & 35,317,680, 50,786,815 15,469,135 [2 20,337,000 O 0= 01
210 [= 0 = 3,425,680 X 01
EEAY 23,762,680 18,903,815 4,858,865 [2 20,337,000 O 0= 0]
403
XX Sl S 23,762,680 18,903,815 4,858,865
Xt =0l ®
23,762,680 18,903,815 4,858,865(01 XX SHHIX =2 X
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I (2000)AFSIJHEH]  2H:(2400) FE4L XISIAFSIOHE: 8F: (2420) KIS AFSIDHEL HIBt: (2422) X & JH et HIAIE: (210) B ALY EBIEER-E)
ut = "SI E == ] Il
Of &F ©h &t = 7l =
.28 NI HAE = o & o = A 2
CcQXIEBEIMY (15AIZ, 1782H)
15,852,500,0002 x 90% 14,267,250
< 1,585,250
r 12,682,000
o CNBEINLAY (5AIZ, 272)
2,935,800,0002 x 85% 2,495,430
< 440,430
z 2,055,000
oATE FSHAY 7,000,000
[ 1,400,000
F; 5,600,000
-200348 Y A58 |4 (3XHEHE)
(1,300,000,0008! x 2JHA) + (325,000,0008! x 2IHA)
= 3,250,000
= 650,000
Fa; 2,600,000
C20048 " AES B4 (2XEE)
(1,000,000,0008! x 3JHA) + (250,000,0008 x 3HA)
= 3,750,000
[ 750,000
Fa 3,000,000
220
XHAI AL 11,555,000 31,883,000 20,328,000
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I (2000)AFSIJHEH]  2H:(2400) FE4L XISIAFSIOHE: 8F: (2420) KIS AFSIDHEL HIBt: (2422) X & JH et HIAIEE: (220) R HI A EBIEER-E)
ut = PSS == B ] Il
o] &t oM Ab = ol =
.2 g ME AN =2 of &b o = A 2
403
XIS S 11,555,000 31,883,000| ~20,328,000
JE=NIPS]
11,555,000 31,883,000| ~20,328,000(01 XtXISHHM 2L X
oHASAE AE 8,000,0002 x 1005 x 30% = 240,000
ST HOFS ORIl AR (TAIZ, 19HAL)
2,380,000,0002 x 50% = 1,190,000
oEHEUAAHY 370,000,000 x 50% = 185,000
CARBFOSAAY = 9,940,000
M & & 36,568,055 51,840,335 A15,272,280
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